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Often
voice
hearers
may not
converse
with their
voices in
public,
but they
will do so
in the
privacy of
their own

room.
. Others

Professor Julian Leff ,the prominent British may do If you have schizophrenia then using alcohol or streel drugs

psychiatrist argues that voices strip us of our belief SO will make your voices worse. (Image: Luisma
that we control our own thoughts. TaplafShumerstuck) \ﬂs

regardless of who they are with or where they are. 13#"> \ﬂo‘ “-Q,( & OJ\%%% %}){\U@

At other times you may find it difficult to get the persons attentmn whe ou are trying t talk to them. This is
because in the sufferer’s mind your conversation has to compete with the incessant conversation from their

voices. If you want to know what this is like, try switching the tele ision and radio on at the same time and
- decipher what they are both saying.

\
What factors affect the severity OFE?W\) 0 § %Q«Jb
studies e g-t1at when people with schizophrenia use alcohol or street drugst Ir VOIC |Il

choticgymptoms the voices will also get worse when the suﬁere

Iy lcularly if they are experiencing open hostili {O % 5(/

xﬁﬂ‘

S Vesrso

However, anti-psychotic medication is very effective in

helping people to deal with voices, and talking therapies

and support groups for voice hearers can also help

when the voices are still a painful part of their life d\(}
despite the effects of the medication. AM_?O\—BD“
people with schizophrenia will experience an
improvement in their symptoms when they take anti-

psychotic medication. % This is roughly about the same g&:‘j\

level of effectiveness that antibiotics have in treatmg
infectious illnesses like pneumonia.’ r/

Some work has been carried out into the use of @
~_cognitive behavioural therapy to treat voices. The initiél
results are promising but not consistent, and the jury is C ",

be more eﬁective in helping people to cope with delusions.? % Group C (o W
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